
Zahlenraum	8 Name:	______________

8

0
1
2
3
4
5
6
7
8

2 + 2 = __

5 + 2 = __

6 + 1 = __

3 + 3 = __

3 + 1 = __

3 + 2 = __

1 + 4 = __

1 + 6 = __

2 + 6 = __

6 + 2 = __

3 + 5 = __

1 + 3 = __

5 + 3 = __

2 + 5 = __

4 + 4 = __

5 + 1 = __

3 + 4 = __

4 + 2 = __

2 + 4 = __

2 + 1 = __

5 + __ = 8

3 + __ = 8

4 + __ = 8

6 + __ = 8

1 + __ = 8

7 + __ = 8

2 + __ = 8

1 + __ = 8

4 + __ = 8

6 + __ = 8

5 + __ = 8

6 + __ = 8

8 - 1 = __

8 - 5 = __

8 - 7 = __

8 - 3 = __

8 - 4 = __

8 - 2 = __

8 - 6 = __

8 - 2 = __

8 - 4 = __

8 - 4 = __

8 - 4 = __

8 - 2 = __

8 - 7 = __

8 - 7 = __

8 - 6 = __



Zahlenraum	8 Name:	______________

8

0
1
2
3
4
5
6
7
8

5 + 2 = __

4 + 2 = __

3 + 5 = __

2 + 4 = __

5 + 1 = __

2 + 1 = __

3 + 3 = __

6 + 1 = __

5 + 3 = __

4 + 1 = __

2 + 2 = __

1 + 3 = __

1 + 1 = __

2 + 5 = __

6 + 2 = __

2 + 6 = __

1 + 4 = __

4 + 4 = __

1 + 6 = __

4 + 3 = __

7 + __ = 8

2 + __ = 8

4 + __ = 8

3 + __ = 8

6 + __ = 8

1 + __ = 8

5 + __ = 8

2 + __ = 8

5 + __ = 8

3 + __ = 8

1 + __ = 8

2 + __ = 8

8 - 6 = __

8 - 4 = __

8 - 1 = __

8 - 3 = __

8 - 7 = __

8 - 2 = __

8 - 5 = __

8 - 7 = __

8 - 5 = __

8 - 1 = __

8 - 6 = __

8 - 6 = __

8 - 3 = __

8 - 3 = __

8 - 5 = __



Zahlenraum	8 Name:	______________

8

0
1
2
3
4
5
6
7
8

2 + 2 = 4__

5 + 2 = 7__

6 + 1 = 7__

3 + 3 = 6__

3 + 1 = 4__

3 + 2 = 5__

1 + 4 = 5__

1 + 6 = 7__

2 + 6 = 8__

6 + 2 = 8__

3 + 5 = 8__

1 + 3 = 4__

5 + 3 = 8__

2 + 5 = 7__

4 + 4 = 8__

5 + 1 = 6__

3 + 4 = 7__

4 + 2 = 6__

2 + 4 = 6__

2 + 1 = 3__

5 + 3__ = 8

3 + 5__ = 8

4 + 4__ = 8

6 + 2__ = 8

1 + 7__ = 8

7 + 1__ = 8

2 + 6__ = 8

1 + 7__ = 8

4 + 4__ = 8

6 + 2__ = 8

5 + 3__ = 8

6 + 2__ = 8

8 - 1 = 7__

8 - 5 = 3__

8 - 7 = 1__

8 - 3 = 5__

8 - 4 = 4__

8 - 2 = 6__

8 - 6 = 2__

8 - 2 = 6__

8 - 4 = 4__

8 - 4 = 4__

8 - 4 = 4__

8 - 2 = 6__

8 - 7 = 1__

8 - 7 = 1__

8 - 6 = 2__



Zahlenraum	8 Name:	______________

8

0
1
2
3
4
5
6
7
8

5 + 2 = 7__

4 + 2 = 6__

3 + 5 = 8__

2 + 4 = 6__

5 + 1 = 6__

2 + 1 = 3__

3 + 3 = 6__

6 + 1 = 7__

5 + 3 = 8__

4 + 1 = 5__

2 + 2 = 4__

1 + 3 = 4__

1 + 1 = 2__

2 + 5 = 7__

6 + 2 = 8__

2 + 6 = 8__

1 + 4 = 5__

4 + 4 = 8__

1 + 6 = 7__

4 + 3 = 7__

7 + 1__ = 8

2 + 6__ = 8

4 + 4__ = 8

3 + 5__ = 8

6 + 2__ = 8

1 + 7__ = 8

5 + 3__ = 8

2 + 6__ = 8

5 + 3__ = 8

3 + 5__ = 8

1 + 7__ = 8

2 + 6__ = 8

8 - 6 = 2__

8 - 4 = 4__

8 - 1 = 7__

8 - 3 = 5__

8 - 7 = 1__

8 - 2 = 6__

8 - 5 = 3__

8 - 7 = 1__

8 - 5 = 3__

8 - 1 = 7__

8 - 6 = 2__

8 - 6 = 2__

8 - 3 = 5__

8 - 3 = 5__

8 - 5 = 3__


